281°. ,Z{:)nec'rn,vnio'na‘pnmo € BYHKIIA:

1) flx)=2; 2) flx)=24-52% 3) g(x)=12]x|;

| 1

4) flz)=(x-5)(x+7)-2% 5) flx)= 77 3
282°. MopectH, o HAPHOK € QYHKIIA:

1) flx) =24 2) flx)=2"-25

3) g(x)=--7|xl; 4) glx)=(x+7){x—1)-6x.
283° IoBecTH, 10 HENAPHOIO € QYHKIIisa:

) flz)=2;  2) glx)=-2; 3) da)=z-z

s o
4) {z)=2~—5;  5) fla)={z-3)*~(x+3)".
284" Nomectn, ujo HemapHOW € GyAKIis:

1) glx)=x° 2) ﬂx)=-2~$;
3) fa)=——:  4) glz)=(z+2)7-(z-2).

r+x
285", Bigomo, mo f(—2)=>b. 3ma¥ru f12), axmpo dyernisa f:
1) mapua; 2) HenapHa.



